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(a) Notice f+ g = 8. ..-x+ Sx = x(S-x)

22- Sx+ 8 = 8 - x(s-x)

Shells : dV = 2Rhdx = 2x/f-9)dy
Intersections : 0

· at f =gD -x= S = x2Sx+8

-D2x"- 10x +8 = 0

~D x" - Si+ y = 0

~D(x-1(x -4) = 0

~D x = 1
, 4

v = S xc(-25+ 102 -8)dus = 45

(6) ↑
2 =- 2

do = 2Rhdx = 2π(x+2)du
2

v
=

2 + (x +2)mduS
cithin-,
=
= E +E-E
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las da = No das Nda nurMid

arclength =Ids us See
Sub = Stand ,

1 +Y = 1 + tano = seco

dx= SeidO x[0 , 1] ~D @e [0, )

~ Stero- sciono
2)epdo Use (codo = helsea+and +

Sseodo = tanseioseco

*~D (tapsed+ /seco +ta0)
2) +(v + m(n + 11) - t(0 + -((1 +01)

> +11



3) (b) ds =Nd *
dA = 2TRds = area of "band"

A = jaa lands was Sanda
Again set x = Etano

,
d = EseO

/Y

~ Satanooseide
/4

tanoscinecionon
->from (a) above)

=>(+ +1)+So do

*
/Y

A
use [secodo =

3.
ad

tanosecoso

FinaaSo
, get

( + 1)( + + ((v +11) +



Fy Try

y

(a) depth (below water line) = y-1

Width W(y) = 7 - Fy
bounds (below water line only : (13 Y =

S

~D (pg(y -1)(4 - 53)dy

(6) depth = y-1
u 90913-1) (5 - 53)dyw(y) = S - + Y

bounds : 11 Y 3

(C) depth = z - y

W(y) = 2 : /"x-coord on circle")

= 2 -y

bounds : OSY 52

uD Jig -11.notd



(a) &Y
= cos

m
"distance to y-axis"hoa

= , My = Sunda > placed
S
2 easingcera
22 1 - Pos2Ep-1
uD My = (- 1)9

M= =edus = "Areaundea
π/z

= psinlo = A

Therefore is= = - .

----



#/z

i= Jeff
(M = P) ·on e
f = LOSK

,
fo = 0 = x-axis

π/2

i = Stcosidas
8 π/z

22//cos)disu +Sinc
uD y = I

MD (5
,
j) = ( - 1, )

(6) 5 = 0 by symmetry.

j=
M =

p .Area = 0 (zb . h +mr) = p(43 + +2) = p(b + 4 + )

Ma=?
*
= 5

,
M=+ ~M =20

Mi = ? 3
width = - 3

= IYdA = Joywindyy-l
< /y .E -5 ) = 60 = M

My = Mic +M = 120 +6

uD j = 20T3



- horizontal plane slices

y
dm =

p .dA = p.rdy

/i
v = 1 . 2- y

dm =pi( -3)dy

work to raise slice to "y" is y . g - dm

> y(n-yidy y3 - 8y+ 16y

Thus total work is farel-yidy
(16

y - > + 8 = 12 -3 =3

> e916-+
> 79(600) 19.8)



Simpson's :

Area & (f(x) + Y f(2x) + 2 f(2) + yf(2() + 2f(x) + ...)
Ax = 1

,
20 = 2, 2 = 3, ..., x6 = 8

Area = +(0 + y . 1 + 2 . 3 + y . 3 + 2 . 2 + y3 + 1 .0)

x +(4 + 6 + 12 + y + 12)

> 3


